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BAfE B 51054108188 SUNGOLFP A =0 —X
JIE 432 ES %4 OuT | IN | GR | HDGP NET = JIE 432 K 2 OUuT | IN | GR | HDGP NET e
205 | E¥F HE— 43 | 40 | 83 [13.2 | 69.8 |AE 51 |#¢ &= 53 | 51 |104 | 27.6 | 76.4
& B 7 44 | 42 | 86 |15.6 |70.4 |AE 52 |Bp¥ ERHE 54 | 50 (104 | 27.6 | 76.4
3 |HhH = 37 | 40 | 77 6.0 | 71.0 | AE 53 (Bl & 47 | 38 | 85 8.4 /76.6
4 |FHFEK B 39 | 43 | 82 |10.8 |71.2 |AE 54 |dh Il {Hth 45 | 46 | 91 [14.4 | 76.6
5 |&FT #Gh 40 | 41 | 81 9.6 |71.4 AE 55 | K#F EA 48 | 43 | 91 [14.4 |1 76.6
6 ;;EZ FAl b1 | 48 | 99 |27.6 |71.4 |AE 56 |K# EA 48 | 49 | 97 [20.4 | 76.6
17 W & 50 | 53 |103 |31.2 |71.8 |AE 57 |ivial KX 44 | 53 | 97 [20.4 | 76.6
8 Ml EZE 47 | 43 | 90 [18.0 | 72.0 |AE 58 g Z&5 46 | 44 | 90 [13.2 | 76.8
9 |KEh HiE 37 | 45 | 82 9.6 | 72.4 AE 59 /& HE 53 | 43 | 96 [19.2 | 76.8
10 |#H i 46 | 47 | 93 [20.4 |72.6 |AE 60 [JI[E {23 48 | 54 (102 [ 25.2 | 76.8 |RE
11 |Bl Em 48 | 38 | 86 [ 13.2 | 72.8 61 |JIlE FEX 42 | 47 | 89 [12.0 | 77.0
12 [#HE 3sh2 51 | 47 | 98 | 25.2 |72.8 62 |/hgx E—ER 50 | 45 | 95 [18.0 | 77.0
13 &< K £ 40 | 45 | 85 [ 12.0 | 73.0 63 |AtH = 50 | 45 | 95 [18.0 | 77.0
14 EH F= 48 | 43 | 91 [18.0 | 73.0 64 |IlLE =& 59 | 48 (107 [ 30.0 | 77.0
15 |& JLHE 48 | 42 | 90 [16.8 | 73.2 |RkE 65 (}8/F & 41 | 47 | 88 [10.8 | 77.2
16 |80 =E 42 | 41 | 83 9.6 | 73.4 66 [ILEH FE 46 | 54 100 [22.8 | 77.2
17 |k —3 41 | 42 | 83 9.6 | 73.4 67 =8 T 43 | 44 | 87 9.6 | 77.4
18 | RA# FERAXER 46 | 43 | 89 [15.6 |73.4 |H¥HE 68 AL FRE 49 | 50 | 99 [21.6 | 77.4
19 B 7243 47 | 48 | 95 | 21.6 | 73.4 69 Hh HI& 48 | 56 (104 [26.4 | 77.6
20 FHE &+ 35 [ 41 | 76 2.4 173.6 |kE 0 =8 #FE 57 | 47 (104 [ 26.4 |77.6 |RE
21 kB =A 41 | 41 | 82 8.4 |73.6 |\ X% =EWR 50 | 47 | 97 [19.2 | 71.8
22 | BEK X 35 | 46 | 81 7.2 |73.8 72 |IhE  EtiE 52 | 51 |103 [25.2 | 71.8
23 |FEXK 753 45 | 42 | 87 [ 13.2 | 73.8 713 YA B 54 | 48 (102 | 24.0 | 78.0
24 |E¥Y EB 40 | 47 | 87 | 13.2 | 73.8 74 |IRIE ¥ 50 | 51 |101 [22.8 | 78.2
25 |1E% <t 42 | 51 | 93 [19.2 | 73.8 |HkE 75 |4H 1E 55 | 58 |113 [ 34.8 | 78.2
26 gy EE 37 1 37|74 0.0 74.0 16 | HE FEH 54 1 59 113 [ 34.8 | 78.2
27 |{BE 1E 42 | 38 1 80 | 6.0 | 74.0 71 | LR BiE 58 | 55 (113 | 34.8 | 78.2
28 2R M 50 | 53 |103 | 28.8 | 74.2 78 L@ E#k 51 | 49 100 | 21.6 | 78.4
29 |5t MER 42 | 54 | 96 | 21.6 |74.4 79 (XNl {EA 48 | 44 | 92 | 13.2 | 78.8
30 |JIlE &= 45 | 44 | 89 | 14.4 | 74.6 |RE 80 [Fik X= 49 | 42 | 91 | 12.0 | 79.0 |FkRE
31 |dtK  #ER 47 | 42 | 89 |14.4 | 74.6 81 |/l fnE 50 | 47 | 97 |18.0 | 79.0
32 \lk@A EAE 51 | 44 | 95 | 20.4 | 74.6 82 MBIl HHEIA 44 | 46 | 90 | 10.8 | 79.2
33 |FE Eif 51 | 50 |101 | 26.4 | 74.6 83 Ik #NE 49 | 45 | 94 [14.4 | 79.6
4 K —E 48 | 52 (100 | 25.2 | 74.8 84 |INE HF 48 | 46 | 94 [ 14.4 | 79.6
35 |{RiE HEF b1 | 48 | 99 | 24.0 | 75.0 |FkE 85 &t & 56 | 50 (106 | 26.4 | 79.6
36 | KA mBX 44 | 42 | 86 | 10.8 | 75.2 86 |HE ®EEA 41 | 46 | 87 | 7.2 |79.8
37 |;k8 BB 44 | 48 | 92 | 16.8 | 75.2 87 |Bi KX 43 | 44 | 87 | 7.2 | 79.8
38 |IRUE FRE 47 | 51 | 98 | 22.8 |75.2 | BEEE 88 M MC 51 | 54 (105 | 25.2 | 79.8
39 @ YUFF 50 | 47 | 97 | 21.6 | 75.4 89 |K# & 51 | 52 (103 | 22.8 | 80.2
40 KRB B 50 | 53 [103 | 27.6 | 75.4 |kE 0 & F— b2 | 56 (108 | 27.6 | 80.4 k=
41 \hE EESE 40 | 44 | 84 | 8.4 |75.6 91 |8y B 47 | 48 | 95 | 14.4 1 80.6
42 @G FISE 46 | 44 | 90 | 14.4 | 75.6 92 |FEk IEBX 57 | 50 (107 | 26.4 | 80.6
43 |'Hml RA)| 47 | 49 | 96 | 20.4 | 75.6 93 |iTik == 55 | 58 113 | 32.4 |80.6
44 IRE HBX 43 | 40 | 83| 7.2 |75.8 94 MR RE 50 | 44 | 94 [ 13.2 | 80.8
45 |rhAt  HERE 48 | 47 | 95 | 19.2 | 75.8 |RE 9% Bi5 &= 59 | 53 (112 | 31.2 | 80.8
46 |EH &= 50 | 51 |101 | 25.2 | 75.8 % ER = 45 | 48 | 93 | 12.0 |81.0
47 |81x  BALE 50 | 51 |101 | 25.2 | 75.8 97 |HAXx f@— 46 | 53 | 99 | 18.0 |81.0
48 =L B 50 | 57 |107 | 31.2 | 75.8 98 X% B 49 | 50 | 99 | 18.0 |81.0
49 [Nkt #F£ 43 | 45 | 88 | 12.0 | 76.0 99 /A RXEB 56 | 55 |111 | 30.0 |81.0
50 |iE#& #Bah 50 | 50 [100 | 24.0 | 76.0 |FkE 100 |FEE EA 52 | 52 (104 | 22.8 | 81.2 |kE
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BfE B S FI054E10A18H SUNGOLFT7 A = va—X
g sz K £ OUT | IN | GR | HDCP | NET e IE sz K & OUT | IN | GR | HDCP | NET w5
101 | &% 1503 53 | 51 |104 | 22.8 | 81.2

102 )il BFF 58 | 51 |109 | 27.6 | 81.4

103 | LI AN 53 | 52 |105 | 22.8 | 82.2

104 |igiz — 60 | 54 (114 | 31.2 | 82.8

106 Lk &® 65 | 49 (114 | 31.2 | 82.8

106 X% =&t 62 | 57 (119 | 36.0 | 83.0

107 |2 F 59 | 60 (119 | 36.0 | 83.0

108 | X8 En 60 | 60 (120 | 36.0 | 84.0

109 |5 AR 55 | 57 (112 | 27.6 | 84.4

110 | Xm = 64 | 50 [114 | 28.8 | 85.2 |[BBHE

111 |#&8 BASK 58 | 66 (124 1 36.0 | 88.0
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